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Math 111 Functions and Graphs: 2 Name:

GEL Boomerangs
Cost 1996 - 2004
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{ = time in years since 1995

Instructions: Answer each question using a complete sentence.

1.) What does =4 represent?

2 What does ¢=5 represent?

3.) What is the domain of ¢(#)?

4.) What is the range of ¢(1)?

5.) Find and interpret ¢(2)

6.) Find and interpret ¢(7)

7.) Solve and interpret p(t)=7

8.) Solve and interpret p(r)=6

9.) Is it better to have higher costs or lower cosis?

10.) Explain the similarities and difference on the graph between r=2 and r=6.

11.) Find and interpret ¢(6)—c(4)




